Tutorial 9

1. Aggregate the following CIDR addresses :

· 130.14.160.0/21

· 130.14.168.0/21

· 130.14.176.0/21

· 130.14.184.0/21

2. Again, try to aggregate the following CIDR addresses :

· 120.16.1.0/24

· 120.16.2.0/24

· 120.16.3.0/24

· 120.16.4.0/24

3. One router has got the following routing table :

	Network
	Interface

	200.100.32.0/19
	Interface 1

	200.100.32.0/24
	Interface 2

	200.100.32.0/26
	Interface 3


Two packets arrive at the router. One is destined for 200.100.32.10 and the other is for 200.100.32.120, which interface that these two packets will be directed by the router ? Explain your answers.

